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Review.
* Joint dstw bution Of +wo r‘v,'s

IndﬁfPehdmu. 0{_ two r.u.’s

Let Xouul Y be two r.Us. Tl\g, J\oﬁat Cumulative s Tnbigher,
'Fund'n‘n (CDF) 0£ X owmd Y s O'e)cﬁnerl Qy

Flab)= P{Xso, Ysb}, abeR.

De& We say that X and Y ave m iF
Df xeA, YeB}= P{xeal pfYes}

for all A Bc R

meon‘l'n‘twety ,  one Can Fvwe TLoft

X ond \r ore fniL‘)en(lMt = F(O\,b) = FX(M] FY(E)
v ab€lR.



. Moveover'/ whan X, Y are both owhu&j[q,
X, Y are mch‘)em&w‘t & /P(x,g) = ’chx) 'FT(IQ) Cdx,9eR

e When X and Y are jomtly cts,

X ond \f ore nh&nfembd P 1@“'3): Fx(x) 'FY(‘a)
g x,9¢R.

8 6.3 Sums of t‘nole_’)ehdm‘}‘ Y.V.)S.

Q,u,es’('t'onl et X/ Y be tkchf&d.u,{f’ Y.V.,S.
How to lec»»lo»‘l’e the db\‘\\'“lmbw OJ( X'I'Y.)

S«??m X, Y Owe\]ol\n‘ibf cts and t?\iu.rehdsmf_ Then
the Aenﬁu\fj of X*\r\r 1S ‘a—ivem b]
‘PXJ\-Y (0‘)2 -PX * FT(Q)

- &m fi (s Fy o dy



Bomple £ Let X, Y be vhdspendsat,  both unif. dist.
on [0,1]  Caleulnte tha dﬁMH‘J of X+t \r

go[WHDn; let @& I-R TL\en

Fx»r\((&) = {BX i FT (a)

i 5(: Fy (0= \cha) dy
) S;i <FX(0,~3) dﬂ (Su‘nu \%(y):f

e 2zqoy

—

o
Sa_' £y da

IF o< Q\<|/

S‘o: {x(i\di = j& 142 = 0.

0

IF < As2,

& 1
a1 X

Q-1

IF A>2 or O<o,

j‘o\
o) pX(i)di = o

l ;S’ 36[0,0)
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Ex«m‘)le 2. et X, Y bhe thde}leher normd vu’s
oith. perames (0,8) and (0,0)
Find out the dobwbution of Xt Y.

Coluhon . Recutl that

Xl.

fxm = A/‘:'-E e ~ ~ AeR
T
{j\f(b) = A o 6 26 | Y& IR



HenUL ‘Fov‘ Q¢ [R
’Fx* \CT(a) = g 10 ) WCTCU) dy
—(a-a)
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Helatsz, XTY 5 Q hormhﬁ/ .U W th 3“'%”19/*“!
(o, 5%1) ,

Remark : T %W«Q, XY we l%cﬂn,l)evdmt
novmel TS wiHs F“WMQVS
(&), and (K, 60) then
Xﬂ—\f Br o Morwad dishbutiva

with peramefers  (HtMa, 6 52)



